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)DeTermine the

momentum of a
1960-kg sportscar
that travels 350
km/h [E].
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ich object has the greater magnitude of momentum?

(A 75-kg runner moving at 4.5 m/s. Y4 N (A 65- -kg skater moving at 7.7 m/s. )
\_ VAN VAN J
(A 47 million kilogram ship with speed of \(~ "\ (A 9 billion kilogram iceberg moving with )
42 km/h. speed 0.7 km/h.

- AN AN J
(An electron (m=9.1 x 10" kg) moving at) \ /A proton (m = 1.67 x 10 kg) moving at )
0.8 the speed of light (c = 3.00 x 108 m/s). half the speed of light.
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(c) Mrs. Brosseau's Binder
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